1/o0 dcr/dxID

Ratio to ALEPH

=
o
i

=
o
w

=
o
N

10

1071

1072

1073

0.5

ZQ6 Gey ee

vy*/Z (Hadronic)
T T T T T |_

L - _
- [N ]
= . =
— B -
Z L ]
= \!fx =
_ \\.\\ pa—
= Ty =
E m ALEPH g\\ —
—  --0-- Herwig++ 2.5.1 default i om -
=— --id-- Herwig 7.2.1 default ‘3: —
— | | | | | | | | | |E
: T T T T | T T T T |:
o _
/::\ ]
’:// \\\\g —
::@f AN

- B 7
L OB _
| - |

1 1 1 1 | . 1 . 1 . 1 NN : |

0 0.5 1

Rivet 3.1.10, = 400k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


